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March 25, 2019, Monday

Which of these is NOT a fllnl:tlon"

A. (5,3),(6,4),(7,3),(8, 4) B.

=Vertical Ujre Test

Solveeach cquation by fatoring
GCF ¥x-3x=0
KLK-8)=0
K=0 \K3=0O
R ]
neoeiizo K &

-2;1

3 o' =9

I-)

7n —ax3}

TOTD Solving Quadratics (Factoring/Sq. Root/Completing the Square)

2 0 -16=0

4) sm?-23m-10=0

Solve each equation by taking square roots.

6) 4x’ +3=403

Solve each equnllcm ',ytmpm...g the square. 4

) £+ 1243520

Tx_?‘?% Ts— Ke1es
_ =
K¢ Tl

March 26, 2019

Let's review factoring quadratics....

Algebra |

Y
Solve ach equation by factoring, ¥
it - 9x+8=0 N

(X-1Xx-9)=0 _

”

Y
Solve each equation by taking Square roots?

i

Nz
nz |

110
10, n=-10

N v
Solve each equation by completing the square.

4 peep W

1,‘,!7 ’:l’
( +3)" SR
praf- ﬂTo
___/
p=-3ty

Algra2 e
T(E)TD Solving Quadratics (Factoring/Sq. Root/Completing the Square)
:]nht‘cn:hnq;:nh:n by factoring. 2190'550 o -b* e LY a- )
v-9:01 G-)\‘b:3
2Gx-q=0 7 [X)’S:LX-?’) <o
Yo-as ¥R |¥ES
3t —6n=0 2 42;—350 X=3

NI-

Co\’

Solve each equation by taking square roots.

6) 87 -5 =387
?
-3

Solve cach equation by completing the square.

) #4160 -36=0 8) 0160 460=0
E

sg....

March 26, 2019, Tuesday

1. What is the y-intercept of the graph of hix) = 2* - 47

A (0,-4)
—9B. (0,-3)
€ 1
D. (0,2)

2. what istsrang\!ryl‘l.hs graph of fix) = -3(x - 4J7 \
A \" | ‘\+

\71}“.

Answers to Unit 5.3 Samgl
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Solving by the Quadratic romula Notes
6l (@3 1 b &= 0) ¢an be found by evaluating the quadrati

b Oy —(b)+\/(b)2 4@)(©)
){mleﬂéu tic formula to solve for x 2(@) n

‘L& X=- G100 YUOY YRY-Q
b:'l0 2R

Cz-S
X=55,705

x;x*?{ 0 x——(s)*mT
Gz 9
-3 X=No 30LLfn0N ‘Jm,;
B & Jm/t
_ M
A X= (o) £ TEer-ac x-q

—';xt"b‘"%o 2N
<~ X:- 3 ;3

March 26, 2019

Algebra 1 ~ U3B Day 4

Yot ;)& 9= ozw 8p-30=0
Fl\-s G:q
39b:0 x=15-18

3) 667+ Th-68=0 4 st 11=0
azb

b3 X=234

c=-}

5) dr-69=-9 6) 207 - 58 =%

7 4 -sk=21 ) 4’ =144

9) 2a* -5+ 3a=-10-8a" +3a 10) m* +8m=91+2m
Z2em 1P
i T
Mmtilom =9
-
—
M ibm-TI=Q

a:l bbb «=-9|

1) w=3n-d5=0n 12) 12p* ~9p— 44 = ~dp + 8p°*

13) 26+ 1k- 13820 19 65 37 (u\ 47“—["5_

A) (6,115 A) 7,7 ]
B) No solution.

B) 16,1 5}
©) [2.231,-7.731) C) 19.899, -9.899)
D) 18471, 7471 RN L_-,?

) 10.667,05
D) {1.25,-1.25]

. OX +bX+C=0

. or quadratic

S i (by factori
formula). SHOW ALL OF YOUR WORK!!!

1) 4K -81=0 2) 26 - dk-16=0

3) 36°—4b-7=0 4 4 -2v-6=0

Algebra | Name
d)

s equa (by factoring,
formula). SHOW ALL OF YOUR WORK!!!
1) pte2p-143=0 2) 4x*-9=0

3) 4= Tr-15=0 4 0tadv-2720

(. completing the square, or quadratic

1) (x=Disx+8)=0 12=0

X‘—"& ﬂ-)%()v\
b _§ ™alns
S

5 N & Note: fho can

froctions

0%
N

e *0-3&“/% (8) 0\ »’51)’\-\1):(?

Therg 15 notGn
=0\ z ) ﬁcmmplfol bo Homs

§e+ decimags?
)
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Solve each equation by completing the square.

e
X+ )2
Fra? = 31

a:é -7-|03'l SRR

bs-10 )
e ) )

X=-1,b

as 05(%0&:1 LA
bz
[
)(’-l,-s X-‘g\'ﬁ

X' x=-b29
- -6L+S=3
YS5+2b y---G:-15

om0 Gaffoms y ,'{,:,:ugm:(f‘o

e +
Lxddg=as  NGdeey T

Lrachons

‘Solve each equation by completing the square.
7 6+ 120-37=8

315

‘Solve each equation with the quadratic formula.

) 20~ 10r 41120

5043 5 A3

2 2
quation by factoring. use any you choose.

9 K +Th+6=0

March 26, 2019

Mg | Name

U3B SG - Solving Quadratic Functions

Salvecachcquation by fctoring.

1) (x= Disx+8)=0 2 wt-n-12=0
s .

3 7R 3r=0

3
20

Solve each equation by taking square roots.

5 pel=8

9.9

6) 4+ 647 =60
Lt

March 27, 2019, Wednesday
tem 13
Constructad Rasponse
Maria and Jeff collect data on the number of cars that pass through an intersection every Monday
moming for 2 months. They record the findings a¢ 75, 158, 63, 71, 56, 67, 75, and 6. Thay each
wuse different methods to summarize the typical number of cars that pass through the intersection at
the specified time and compare their findings. Jeff says that, on average, T9 cars pass through the
p in. Maria di d says that the be used and
uses the median instead to describe the typical number of cars that pass through the intersection on
any given Menday morning.

PartA  Wnat is the median value of the data? Write your answer in the space provided.

PartB  Explain why the median should be used instead of the mean. Write your answer in the space

Part A

PartB

EOC released...close

reading...so many details!

Solve by graphing,
G.O. then quiz...

1.~
1) 3m* ~6m-9=0 12) 0 s+ 15=0
13 3.5
GSE Algebra | Solving Quadratics Noles
Name: Date:
the form ax? + b + ¢=0.A forms &

A isany b
graph called a parabola (shaped like a u)

In this unit, we wil we will

rwhen y=0.

Solving Quadratics by Graphing

solve a Quadratic by Graphing

We call these the solutions, roots, zeros, or x-infercepts.

To solve a quadalic by graphing is 1o find where The parabola crosses Ihe x-xis

Example : find the zeros. Find the solufions.
: v
A
AN \

Algebra 1 Name.
Solving quadratics by graphing

P cxaure: Use e raphsbeow o sche e given auaatc cqatons.
R b #6920

o
2
b

e graph of 3 = 31+ 4

& Fidesm0 a

] \

Tregmpnot 7 = <35 4 Thegrash oty =% <36
. Sie we o guen e g of y =-x' #3144 and we are aved 1 sohe

e raph. S the et 3t (-0) 30d (4,0, v can corcde e
=4, some soon et (-4

5. Sce e graphof 3 =~ 4 merecs e e =0 ony when
i concude st h sokson et 3]

S o g o 31+ neve st e =0 L, e ),
e et "1+ 31+ 4 naver oquls 0, 30w can concd il B ouaicn
54354420 doea ot have am s s, (oot wecan s et

& e, we e owen th ooty = 436 30 we 1ee 1o Wt ol
coremon 1 43 -6 h e equBion 1 = -7 VR e can 0B sh
S xexo620 (abeabosmishidn)
We can sove i couaton b ok for s v i g of
3= 45~ maseds ha I =0 (. Do xaun. Ths, me st st 3
EX]
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s by graphing!

B cxaveie s

a AD=(-2'-4

() =-2x-6)+4
A :
‘ LN

Vertex: (2, -4) Vertex: (6,4)
Acis of Symmetry: x =2 Acxis of Symmetry: x =6
o ) =-Lx+ay+2 d. dix)=(x+2

o o
g i
20x x
YW )
\ =
- -

Vertex: (-4.2) Vertex: (-2,0)
Axis of Symmetry: x =4 Axis of Symmetry: x =2

March 26, 2019

- MOST —
X45x +0=
R
SOLVING A \
QUADRATIC

AKING
EQUATION gQ*;‘M{g

COMAETING
HE SQUARE

x2egx+1l=0

— MOST — TiC

v 6= O
(,“er\L XZ+ 5% +
+3(Xg’)x:ti) Oo ’\Oi bz—l‘!‘D\C
« =
=% X=-2 7_0\

COMH/E‘FII%IG;
THE SQUA
V&&

rgx+1l=0
x*+gx ="l
xz+gx vl =-{l+le

Ns
o

SOLVING A
QUADRATIC
EQUAT\ON

*FACTOR: 7(2= 3, Yl= -40

(x+4)= W"ﬁ& W—L:m

Vo= V5 <=*6
x4+t = t"lj
x="4 No RERL
SAUTIONS
gNE REAL (Two COMPLEX)

EAL OLUT
gzofmms

y=2Zivio

quiz...

ftem 13

Constructod Response

Maria and Jeff collect data on the number of cars that pass through an intersection every Monday
moming for 2 months. They record the findings as 78, 158, 63, 71. 56, 67. 75, and 64, They oach
use difforent methods o su

the specified time and c
intorsection each Monda
uses the median inst
any given Monday momi

rize the typical number of cars that pass through the intersection at

their Joff says that. on average, 79 cars pass through tha
agreos and says that the moan should not be usod and

to describe the typical number of cars that pass through the intersection on

PartA What Is the median valuc of the data? Write your answer in the space provided.

Part®  Explain why the median should ba used instead of the mean. Write your answer in the space
provided.

Part B

March 28, 2019, Thursday

SAMPLE ITEMS.

1. What are the zaros ion represented by the ion 2¢° 43 - 32
3
A xeDanxet
B x=-Zandx=1
3

C. x=-landx 2
3

D. x=-1andx 2
2

2. What s the vertex of the graph of f(x) = x* + 10x - 92

. (5,66)
-9)

A
B

C. 5,-9)
D. (-5,-34)

3. Which of these is the result of completing the square for the expression x* + 8x - 307

A peap-30
B (4 4f a8
C. pesf-30
D. (x 487 -0a
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ftem 13 Algebra Unit 3B Test Review  Name
Remember toshow work!
Constructad-Rosponso
1. - 1ax-15-0 2. 3¢ 780
Maria and Jeff collect data on the number of cars that pass through an intarsection every Monday o e
2 monts. They record the findings as 75, 158, 63, 71. 56, 67, 75. and 64, They oach
use different mathos to summarize the typical nurmber of cars that pass inrough the intoreoction at
the spacified time and compare their findings. Joff says that. on average, 79 cars pass through the
intorsoction cach Monday moming. Maria disagrons and says that the moan should not he used and
uses tha median instead o describe the typical number of cars that pass through the intersection on
any given Monday morning, 3 S mo120 TR0
PartA What s the median salue of the data? Wito your answer in the space provided.
Part 8 Explain why tho median should ba used instead of the mean. Write your answer in the space
provided
parth 5 X 3R=10 & BTk 5=0
Part B
9. xt-4=5 10.x2-6x+5=0
T -x-12-0 4305 6=5x
March 29, 2019, Friday
a)x=6and
Bx- Tandx- -1
2
Then below
solve correctly.
15. Solve the equation by completing the square.
e 1220
»-8x= 12 4. The expression -x* + 70x - 600 represents a company’s |;mfluwmll '€ x items. For which
numbers) of fems sold is the company's proft equal to $07
x - Bx+16 =12 rie) ipanys profit ea
eapes A oems
B 35tems
x4 =28 €. 10 items and 60 itams.

D. 20 iterns and 30 items.

..test

18, What are the solutions of (x + 5)(x~ 2) ~ 07 | 19, What are the solutions of (2x - ) (3% +7)-07

a)x=-2andx

bx=2and

x- 4andx L

@) x=2andx=2

Unit 38 SPIRAL REVIEW Name: Date:

1. What are the solutions o he equation Tavii=
A x=,

ion o find the 720 of the fonction 33795300

3. Whatis the solution to the linear system?
—xt
2xt2y=6

9)

A B. (2,5) c @9 D. Nosolution

1) Determine the range of the functon.

2

Ayz
B x22

€. Nosolution
D. Al real numbers

a1 c
b, . The graph

6. Abird chirps 10 times a minute bird
4 times per day
1,440
14,400 times per day
144,000 times per day

7. Aculture of Ifthere are 500 b bacteriz
will there be after 9 hours?
B. 9,000 C 4500 D.40,500

5. Whatis the asymprote of the function: () = (1/3)x - 22

bx-1s

9. Whatis the yeintercept of the function whose equation is y= 2(3)7
1 B3 c6 D.2

10. Write the Quadratic Formula here and tell me how do | know if it will solve for 1 sollution, 2 solutions or no

solutions?
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